
 

 

                                          CLASS  9   MATHS  ASSIGNMENT      

                                CHAPTER 17    TRIGONOMETRICAL  RATIOS  Continuation......... 

General direction for the students :-Whatever be the notes provided , everything must be copied in the Maths Copy and 

then do the Home work in the same Copy.     

Exercise 17. 

6 b.  Let  𝑄𝑅 = 𝑥  , ⇒ 𝑃𝑅 = 50 − 𝑥 

         ⇒ (50 − 𝑥)2 = 402 + 𝑥2   𝑏𝑦 𝑃𝑦𝑡ℎ𝑎𝑔𝑜𝑟𝑎𝑠 𝑡ℎ𝑒𝑜𝑟𝑒𝑚 

             ⇒ 2500 − 100𝑥 = 1600 

            ⇒ 𝑥 = 9    ⇒ 𝑄𝑅 = 9  , 𝑃𝑅 = 41 

     (i)   𝑠𝑖𝑛𝑃 =
𝑄𝑅

𝑃𝑅
=

9

41
    (ii)  𝑐𝑜𝑠𝑃 =

𝑃𝑄

𝑃𝑅
=

40

41
    (iii) 𝑡𝑎𝑛𝑅 =

𝑃𝑄

𝑄𝑅
=

40

9
 

12. Given 𝑡𝑎𝑛𝜃 =
4

3
=

𝑂𝑝𝑝𝑜𝑠𝑖𝑡𝑒 𝑆𝑖𝑑𝑒

𝐴𝑑𝑗𝑎𝑐𝑒𝑛𝑡 𝑠𝑖𝑑𝑒
 

               ⇒ Opposite side = 4𝑘  , 𝐴𝑑𝑗𝑎𝑐𝑒𝑛𝑡 𝑠𝑖𝑑𝑒 = 3𝑘   𝑤ℎ𝑒𝑟𝑒 𝑘 𝑖𝑠 𝑡ℎ𝑒 𝑟𝑎𝑡𝑖𝑜 𝑓𝑎𝑐𝑡𝑜𝑟  

                ⇒ 𝐻𝑦𝑝𝑜𝑡𝑒𝑛𝑢𝑠𝑒 = 5𝑘   𝑏𝑦 𝑃𝑦𝑡ℎ𝑎𝑔𝑜𝑟𝑎𝑠 𝑡ℎ𝑒𝑜𝑟𝑒𝑚 

          Now 𝑠𝑖𝑛𝜃 + 𝑐𝑜𝑠𝜃 =
4𝑘

5𝑘
+

3𝑘

5𝑘
    ⇒  =7/5 ans. 

20. Given 5𝑐𝑜𝑠𝐴 − 12𝑠𝑖𝑛𝐴 = 0  ⇒  5𝑐𝑜𝑠𝐴 = 12𝑠𝑖𝑛𝐴 ⇒  
𝑠𝑖𝑛𝐴

𝑐𝑜𝑠𝐴
=

5

12
    ⇒ 𝑡𝑎𝑛𝐴 = 5/12 

        ⇒ 𝑂𝑝𝑝𝑜𝑠𝑖𝑡𝑒 𝑠𝑖𝑑𝑒 = 5𝑘    , 𝐴𝑑𝑗𝑎𝑐𝑒𝑛𝑡 𝑠𝑖𝑑𝑒 = 12𝑘 

         ⇒ Hypotenuse=13k    by Pythagoras theorem 

         ⇒ sinA=5k/13k  ⇒  =5/13    ,  cosA=12k/13k     ⇒   =12/13 

          Now   
𝑠𝑖𝑛𝐴 +  𝑐𝑜𝑠𝐴

2𝑐𝑜𝑠𝐴−𝑆𝑖𝑛𝐴
=   

5

13
 +  

12

13

2×
12

13
 −  

5

13

       ⇒  =  
17

19
  ans 

25. Given    𝑠𝑖𝑛𝜃 = 𝑐𝑜𝑠𝜃   

                  ⇒
𝑠𝑖𝑛𝜃

𝑐𝑜𝑠𝜃
= 1     ⇒   𝑡𝑎𝑛𝜃 = 1 

                             ⇒ 𝑂𝑝𝑝𝑜𝑠𝑖𝑡𝑒 𝑠𝑖𝑑𝑒 = 𝑘    , 𝐴𝑑𝑗𝑎𝑐𝑒𝑛𝑡 𝑠𝑖𝑑𝑒 = 𝑘 

                           ⇒ Hypotenuse=√2k    by Pythagoras theorem 

     Now     2𝑡𝑎𝑛2𝜃 + 𝑠𝑖𝑛2𝜃 − 1   



 

 

                   2 × 1 + (
1

√2
)

2
− 1     ⇒ 3/2  ans 

 26.  (i)   LHS ,    𝑐𝑜𝑠𝜃. 𝑡𝑎𝑛𝜃   ⇒ 𝑐𝑜𝑠𝜃 ×
𝑠𝑖𝑛𝜃

𝑐𝑜𝑠𝜃
      ⇒   𝑠𝑖𝑛𝜃  , 𝑅𝐻𝑆 

         (iii)  LHS  , 
𝑠𝑖𝑛2𝜃

𝑐𝑜𝑠𝜃
 + 𝑐𝑜𝑠𝜃     ⇒   

1 − 𝑐𝑜𝑠2𝜃 

𝑐𝑜𝑠𝜃
+ 𝑐𝑜𝑠𝜃    ⇒  

1

𝑐𝑜𝑠𝜃
−  𝑐𝑜𝑠𝜃 + 𝑐𝑜𝑠𝜃  ⇒

1

𝑐𝑜𝑠𝜃
    , 𝑅𝐻𝑆 

29.   Given   𝑐𝑜𝑡𝛼 =
3

2
        ⇒ 𝐶𝐷 = 3𝑘  , 𝐴𝐷 = 2𝑘  , 𝑤ℎ𝑒𝑟𝑒 𝑘 𝑖𝑠 𝑡ℎ𝑒 𝑟𝑎𝑡𝑖𝑜 𝑓𝑎𝑐𝑡𝑜𝑟 

              ⇒ 152 = (3𝑘)2 + (2𝑘)2       ⇒ 225 = 13𝑘2       ⇒ 𝑘 = 15/√13 

    Now      Area =AD x CD 

                          = 2k x 3k 

                          =6𝑘2     ⇒ = 6 ×
225

13
=  

1350

13
 𝑠𝑞. 𝑐𝑚 

                 Perimeter= 2(2k + 3k) 

                                   =10k  ⇒ =150/√13  cm. 

32.  √
1 −  𝑠𝑖𝑛2𝜃

1 −  𝑐𝑜𝑠2𝜃
     ⇒ = √

𝑐𝑜𝑠2𝜃

𝑠𝑖𝑛2𝜃
     ⇒ =  

𝑐𝑜𝑠𝜃

𝑠𝑖𝑛𝜃
    ⇒ 𝑐𝑜𝑡𝜃   

**** For more solutions to the questions from the exercise and explanation watch the video. 

Home work : Remaining questions from the exercise do as home work. 


